ERRUEH EORECEOBER(FM2F4A1BRAE)

fEbE ERIAEIR (3) - .
, P— = : BETOBE ]
BEOR BRELOME 0 1 oo [mmel 00 [ 00 oo [ BE
1% EAMX EEE EAOB% 4 2.1%| BB 4 4 2.1% g
%
2%k BIEROBS 57 29.7%| BIER 57 57 29.7% K
B
| EROBE . # S
3% %;g iﬁﬁgﬁﬁfgfgéfj S—RUD 42| 2104 EE 42 42| 219% B
3 BIEEORE i
1 FilRR. BRXITIELHEDHE Hif AR 66 .
2 MIAELT SER b= 5—DROBT v 1 o
a8 %;giﬁﬁo,;ﬂﬁ’jfgfﬁﬂég’f_&U” 70| 365%— 70| 3654 @
4 EHTEBETOEE. B E (3ROE A& S
FEICRS. ) R ABEEORE Y R
b 2 BRE
EI = 5
1 FEREX(HE LIEEORS AlbE
2 WA#EEFZTIERE. BEELJIIE HE-ELAHE 8 &
5%k LR, BICHETEIEE LT 2—D 19 9.9% 19 9.9% £
EXITEIFTR GREIESDRIFTRICES. ) =R-FiE 3 %
DTS —
gl E 1
it 19
&it 192 100.0%

XENGF, RTEMRBZEEERALTNST:

CREHEE—HELBWMEE A H S,



